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l\tllCRO  PROCESSOR AND INl'ERFACING 

~~ffu, ~ : cfr-f lRl 
Thne allowrd : Three Hours! 

-;itc: ( i J -sr~ -w.r 3lf.tcfT4 !, ~ # ff f~;;tl qfq t Yrf( ~ I 

[3f~c+id'i ~ : 70 

!Maximum Marks : 70 

·•·ore: Q1iesrio11 No.  I is compulsory. ansm!r any FIVE qllestio11s.fi·o111 the remaining. 
(ii) ~w;rtmftffrrff"EfiT~7<cfi~~ £Jf;,J I 

Solve all parts of a question co11sccwil·c(v together. 
(iii) ~ 'SfR "cfiT ;m 1[lf 8 ~ clftm I 

Start each <Jllestion 011.freslr page. 
(i,-J &,ff,m,317#JFff(ft;,"c/it~#Ji#t3l¥Rt/Wr<[! I 

011(,· F.nglislz ,·ersio11 is ,·a/id i11 case of d((fi.•re11ce in hot/, the lungllages. 

I. (i) 111$~1si'iih-H ~ ~ ? 

What is  Microprocessor? 

( i j} lfffi-;p:rf~T"efil ~ °4 Ji ~~R) llf'TT ~ ~ °RM ~ ? 

\1/hat are the advantages of assembly language over machine language ? 

(ii i) itmtt $rc(4>fill ~ ~ ? 

\Vhat is memory interfacing ? 

... (i\·) ~ ftl$i4ie1 ~ mol ~ ? 

What is fetch  cycle ? 

(v) 8086 ii -qm ~ ~ srm1i1~e1 d2i!R(l ~ -;rrq fc.ifui~ I 

Write the names uf programmable registers in 8086. 

') (i) 8.259 cii1 8085 ~ ~ $rc(if>fo11 cf)l@Ts 3TT@ ~ ~ zja)q ii f!G$ll$~ I 

Draw  the block  diagram  showing  interfacing of 8.259 with  8085  and  explain  in 
brief. 

(ii) 8085 qf$¢ti1Siiinn ~~STA 20561-1 ~ f;io:m::.:i cfll ~ ~ I 

Write the si.:qucncc of execution of instructilH\ STA :205(1ll of ~WS5 
microproce ~or. (6+6) 

(I t1f2) P.T.O. 
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3. (i) 

(2 of 2) 

80 85 ii~~~ i, 1-4l-1$l i$~ I 

Explain ex ternall y  1nit1ate<l  ~,gnals in 80~,5 .. _ _ 
(ii) 80 85 1-11$¾:tsilitsn -ii Rcfi it -tj"ef..mf ~m ·f.$TT cf,1 ~1.IW$~  I 

Ex pl ain all stack n.:latc<l instructions in 8085 microprocessor. 

4. (i) 8086 l.ll$~-1~i1iHH it 20 ~ ~ Jf •l(:JH cf;11-i1.f$H$~ I 

Explain  20-hit address generation in 8086 microprocessor. 
(ii) 8086 ~it~ if.t ~ fuM irriR i.f:i1R8 -iT ~eq....,,,$l-rr.:1$rn~ I 

Explain different segment register used in 8086 microprocessor. 

5. (i) LDA 2050H ~~ ~lll;qll-i ~IB1!,~ 3nt&~~ fl4$ll$ir I 

3038 

(6~ 6 ) 

(6+6) 

Draw and  explain the timing diagram  for execution of instruction LOA 2050H. 

(ii) 8085 l.11$~1srlin-H c:fi1 51lll.cf2. cl $-iSlll{cfl l!.$ffii1 ~ ciJ 3i'!.l~(OI ~ l-14541$~ I 

Explain  the direct addressing modes and  Indirect modes of 8085 vvith example.(6+6) • 

6. (i) ~ ~ cflT 2' s i:hlD=<-f)q2, l:@l cfi8 ifi IBQ. 8085 _j,iliPilc.fi 'qTq"f it mm fc1f@Q, I 

Write 8085  assembly language program to find 2·s complement of a number. 

(ii) 4K x 8 ROM,  8K x SRAM ~ ~ ~ %! ~ 8085 41$i;til~im~H B $--l<tbrni , 

fll-1$11$4 I 

Explain  the  interfacing of 4K x 8  ROM,  8K x 8  RAM  and  an  input  port with 
8085 microprocessor. (6+6) 

7. (i) 8085 ifi f;ii:;ift'lnga ~ <fi13<"!.1~<01 ~ BG$ll$~ : 

Explain the following 8085 instructions with example : 
LDA,  PUSH, ADI 

(ii) USARTcflllmol~? 8251 (USART)ificf>r?7(:"jcfi~citBG$ll$~ I 

What is USART ? Explain the format of the control word of8251 (USART)? (6+6) ... 
8. f;iqfc1fuia 'TT m&m flo:Jufi R-lfuJ~ : (~~in:) 

Write short notes on  following : (any two) 

(i) 8085 cfil ~~ 

lnstru<.:tion format of 8085 

(ii) ffl qil ~1.f <:-il~Mill 

Dcmultirlcxing of buses 

(iii)  Static RAM a~ Dynamic RAM 

Stati c and  Dynamic RAM 
(6x2) 


